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1. Answer the following questions : 1x8=8

(aq) Who is known as the Father of
Sociology?

(b) “Educational Sociology is the science
which describes and explains the
institution that is the social relationship
in which or through which the
individual gains and organizes his
experiences.” Who said this statement?

00P/492 ( Turn Qver )



(2)

(c) Mention any one type of social mobility.

(d) Write the meaning of the Latin word
‘Kultura’.

() Mention any one factor of cultural
change.

() What is meant by équity?

(g Write any one characteristic of
totalitarianism.

(h) Who first used the word ‘Secularism’?

2. Write short notes on the following : 4x4=16
(a) Principles of consensus theory
(b) Role of education in social mobility
(c) Social inequalities in Indian society
(d) Basic features of democracy
3. What is conflict theory of educational

sociology? Write the merits and demerits of
conflict theory. 2+4+4=10

4. What is mt-aa.nt by Socialization? Discuss
some agencies of socialization. 2+9=11

Or

What is meant by Modernization? Discuss
the role of education in modernization, 2+9=11
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(3)

5. What is meant by social change? Describe
the factors of social change. Write the
relationship between education and social
change. 3+5+6=14

Or

What is meant by economic development of a
nation? Discuss the various factors of
economic development. Explain the role of
education in economic development of a
nation. 3+5+6=14

6. What is meant by social disadvantage?
Discuss the role of education in the
development of socially disadvantaged

sections of Indian society. 3+8=11
Or

Describe the characteristics and

classification of social groups in Indian

context. 6+5=11

What is Communism? Describe the nature of
education in Communist society. 3+7=10

Or

at is meant by Secularism? Discuss the

Wh
role of education in a secular society. 3+7=10
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